=hta (IHEEPFK) =heg GhEFR)

B4 TH Hith i1 A TH B =]
=2 & HTHT 2-2 2 HTHT 2 19
= 2T 2-2 = T 2 19-202
=2 & HTHT 2-2 2 HTHT 2 19-301
= 2T 2-2 T 2 19-303
= 2T 2-2 T 2 19-305
= 2T 2-2 T 2 19-402
= 2T 2-2 = T 2 19-405
= 2T 2-2 = T 2 19-103
= 2T 2-2 = T 2 19-205
= 2T 2-2 T 2 19-401
= 2T 2-2 T 2 19-102
= 2T 2-2 T 2 19-105
= 2T 2-2 T 2 19-201
= 2T 2-2 = T 2 19-203
=2 & HTHT 2-2 2 HTHT 2 19-302
= 2T 2-2 < T 2 19-403
> & HTHT 2-4 2 HTHT 2 15
=2 & HTHT 2-6 2 HTHT 2 9
=2 & HTHT 2-6 2 HTHT 2 11
=2 & HTHT 2-10 2 HTHT 2 8
=2 & HTHT 2-12 2 HTHT 2 5
=2 & HTHT 2-12 2 HTHT 2 6
=2 & HTHT 3 2T 3 2
=2 & HTHT 3 2 HTHT 3 15
=2 & HTHT 3-1 2 HTHT 4 33
=2 & HTHT 3-2 2 HTHT 4 32
> & HTHT 3-3 2 HTHT 3 22
=2 & HTHT 3-3 2 HTHT 3 23
=2 & HTHT 3-3 2 HTHT 3 24
> & HTHT 3-4 2 HTHT 3 16
=2 & HTHT 3-4 2 HTHT 3 19
=2 & HTHT 3-4 2 HTHT 3 21
=2 & HTHT 3-4 2T 3 22
=2 & HTHT 3-6 2 HTHT 3 13
=2 & HTHT 3-7 2 HTHT 3 9
=2 & HTHT 3-7 2T 3 10
=2 & HTHT 3-8 2 HTHT 3 9
=2 & HTHT 3-10 2 HTHT 4 17
=2 & HTHT 3-11 2 HTHT 3 6
> & HTHT 3-12 2 HTHT 3 5
=2 & HTHT 3-13 2 HTHT 3 3
=2 & HTHT 3-15 2 HTHT 3 2
> & HTHT 3-19 2T 3 2
= 2T 3-19 T 9 35
> & HTHT 4-1 2 HTHT 4 33
=2 & HTHT 4-2 2 HTHT 4 32
=2 & HTHT 4-3 2 HTHT 4 31
= 2T 4-4 T 4 30-1005
= 2T 4-4 T 4 30-405
= 2T 4-4 T 4 30-502
= 2T 4-4 T 4 30-701
= 2T 4-4 T 4 30-702
= 2T 4-4 T 4 30-703
= 2T 4-4 T 4 30-903
= 2T 4-4 T 4 30-1004
= 2T 4-4 T 4 30-402
= 2T 4-4 T 4 30-403
= 2T 4-4 T 4 30-503
= 2T 4-4 T 4 30-604
= 2T 4-4 T 4 30-705
= 2T 4-4 T 4 30-801
= 2T 4-4 T 4 30-802
= 2T 4-4 T 4 30-804




=hta (IHEEPFK) =heg GhEFR)

B4 TH i1 A TH B =5
= 2T 4-4 = T 4 30-805
= 2T 4-4 = T 4 30-904
= 2T 4-4 = T 4 30-1001
= 2T 4-4 T 4 30-401
= 2T 4-4 T 4 30-602
= 2T 4-4 T 4 30-603
= 2T 4-4 = T 4 30-803
=2 & HTHT 4-6 2 HTHT 4 28
=2 & HTHT 4-7 2 HTHT 4 24-6
> & HTHT 4-7 2T 4 24-8
=2 & HTHT 4-7 2 HTHT 4 25
=2 & HTHT 4-8 2 HTHT 4 23
=2 & HTHT 4-8 2 HTHT 4 24-5
=2 & HTHT 4-8 2 HTHT 4 24-3
=2 & HTHT 4-8 2 HTHT 4 24-7
> & HTHT 4-10 2 HTHT 4 17
> & HTHT 4-11 2 HTHT 4 16
=2 & HTHT 4-12 2 HTHT 4 14
=2 & HTHT 4-12 2 HTHT 4 15
=2 & HTHT 4-13 2 HTHT 4 11
=2 & HTHT 4-13 2 HTHT 4 12
=2 & HTHT 4-13 2 HTHT 4 14
=2 & HTHT 4-14 2T 4 8
=2 & HTHT 4-16 2 HTHT 4 16
=2 & HTHT 4-16 2 HTHT 4 19
=2 & HTHT 4-18 2 HTHT 4 4
> & HTHT 4-20 2 HTHT 4 2
=2 & HTHT 4-24 2 HTHT 4 7
=2 & HTHT 5-1 2 HTHT 5 1
> & HTHT 5-3 2 HTHT 5 5
=2 & HTHT 5-4 2 HTHT 5 6
=2 & HTHT 5-5 2 HTHT 5 9
=2 & HTHT 5-6 2T 5 13
=2 & HTHT 5-8 2 HTHT 5 16
=2 & HTHT 5-9 2 HTHT 5 14
=2 & HTHT 5-9 2T 5 15
=2 & HTHT 6 2 HTHT 6 7
=2 & HTHT 6 2 HTHT 6 8
=2 & HTHT 6 2 HTHT 6 12
> & HTHT 6-1 2 HTHT 6 25
=2 & HTHT 6-2 2 HTHT 6 21
=2 & HTHT 6-4 2 HTHT 6 15
> & HTHT 6-5 2T 6 13
=2 & HTHT 6-7 2 HTHT 6 6
> & HTHT 6-8 2 HTHT 6 6
=2 & HTHT 6-14 2 HTHT 6 13
=2 & HTHT 6-15 2 HTHT 6 7
> & HTHT 7-1 2 HTHT 7 5
=2 & HTHT 7-2 2 HTHT 7 6
= 2T 7-3 2 FTHT 7 7
=2 & HTHT 7-4 2 HTHT 7 8
=2 & HTHT 7-5 2 HTHT 7 8
> & HTHT 7-6 2 HTHT 7 9
=2 & HTHT 7-6 2 HTHT 7 10
=2 & HTHT 7-6 2 HTHT 7 15
=2 & HTHT 7-7 2 HTHT 7 11
> & HTHT 7-8 2 HTHT 7 12
> & HTHT 7-9 2 HTHT 7 15
=2 & HTHT 7-1 2 HTHT 9 1
=2 & HTHT 7-1 2 HTHT 7 18
> & HTHT 7-1 2T 7 20
> & HTHT 7-1 2 HTHT 7 21
> & HTHT 7-1 2 HTHT 7 22




=hta (IHEEPFK) =heg GhEFR)

B4 TH Hith i1 A TH B =]
=2 & HTHT 7-1 2 HTHT 7 10
=2 & HTHT 7-2 2 HTHT 7 9
=2 & HTHT 8-1 2 HTHT 8 1
> & HTHT 8-3 2 HTHT 8 32
=2 & HTHT 8-5 2 HTHT 8 29
=2 & HTHT 8-5 2 HTHT 8 30
=2 & HTHT 8-6 2 HTHT 8 16
=2 & HTHT 8-6 2 HTHT 8 29
=2 & HTHT 8-7 2 HTHT 8 28
> & HTHT 8-8 2T 8 26
=2 & HTHT 8-9 2 HTHT 8 16
=2 & HTHT 8-10 2 HTHT 8 17
=2 & HTHT 8-10 2 HTHT 8 25
=2 & HTHT 8-11 2 HTHT 8 24
=2 & HTHT 8-12 2 HTHT 8 22
> & HTHT 8-14 2 HTHT 8 13
> & HTHT 8-14 2 HTHT 8 14
=2 & HTHT 8-14 2 HTHT 12 1
=2 & HTHT 8-15 2 HTHT 8 11
=2 & HTHT 8-17 2 HTHT 8 6
=2 & HTHT 8-17 2 HTHT 8 8
=2 & HTHT 8-18 2 HTHT 4 25
=2 & HTHT 8-18 2T 8 7
=2 & HTHT 8-27 2 HTHT 8 16
=2 & HTHT 8-29 2 HTHT 8 25
=2 & HTHT 8-30 2 HTHT 8 10
> & HTHT 9 2 HTHT 9 3
=2 & HTHT 9-1 2 HTHT 9 3
=2 & HTHT 9-1 2 HTHT 9 6
> & HTHT 9-3 2 HTHT 9 6
=2 & HTHT 9-4 2 HTHT 9 10
= 2T 9-4 < T 9 10-1002
= 2T 9-4 = T 9 10-1004
= 2T 9-4 T 9 10-1006
= 2T 9-4 T 9 10-1010
=2 & HTHT 9-4 2T 9 10-1104
= 2T 9-4 T 9 10-302
=2 & HTHT 9-4 2 HTHT 9 10-401
= 2T 9-4 T 9 10-403
> & HTHT 9-4 2 HTHT 9 10-407
=2 & HTHT 9-4 2 HTHT 9 10-410
=2 & HTHT 9-4 2 HTHT 9 10-411
= 2T 9-4 T 9 10-503
= 2T 9-4 T 9 10-504
= 2T 9-4 T 9 10-507
=2 & HTHT 9-4 2 HTHT 9 10-511
= 2T 9-4 T 9 10-602
= 2T 9-4 T 9 10-605
= 2T 9-4 T 9 10-608
= 2T 9-4 T 9 10-609
= 2T 9-4 T 9 10-610
=2 & HTHT 9-4 2 HTHT 9 10-704
= 2T 9-4 T 9 10-803
= 2T 9-4 T 9 10-804
= 2T 9-4 T 9 10-805
= 2T 9-4 T 9 10-806
= 2T 9-4 T 9 10-810
= 2T 9-4 T 9 10-903
= 2T 9-4 T 9 10-905
= 2T 9-4 T 9 10-907
> & HTHT 9-4 2T 9 10-1011
> & HTHT 9-4 2 HTHT 9 10-1102
= 2T 9-4 T 9 10-1103




=hta (IHEEPFK) =heg GhEFR)

B4 TH Hith i1 A TH B =]
= 2T 9-4 = T 9 10-1109
= 2T 9-4 = T 9 10-1111
=2 & HTHT 9-4 2 HTHT 9 10-201
> & HTHT 9-4 2 HTHT 9 10-202
= 2T 9-4 T 9 10-301
=2 & HTHT 9-4 2 HTHT 9 10-404
= 2T 9-4 = T 9 10-405
= 2T 9-4 = T 9 10-406
= 2T 9-4 = T 9 10-408
= 2T 9-4 T 9 10-409
= 2T 9-4 T 9 10-506
= 2T 9-4 T 9 10-509
= 2T 9-4 T 9 10-604
= 2T 9-4 = T 9 10-705
= 2T 9-4 = T 9 10-706
= 2T 9-4 < T 9 10-708
= 2T 9-4 T 9 10-802
=2 & HTHT 9-4 2 HTHT 9 10-811
= 2T 9-4 T 9 10-904
= 2T 9-4 = T 9 10-908
= 2T 9-4 = T 9 10-1001
= 2T 9-4 = T 9 10-1005
= 2T 9-4 < T 9 10-1008
= 2T 9-4 T 9 10-1106
=2 & HTHT 9-4 2 HTHT 9 10-1107
= 2T 9-4 T 9 10-1108
> & HTHT 9-4 2 HTHT 9 10-1110
=2 & HTHT 9-4 2 HTHT 9 10-402
= 2T 9-4 T 9 10-502
= 2T 9-4 T 9 10-508
= 2T 9-4 T 9 10-510
= 2T 9-4 < T 9 10-601
= 2T 9-4 = T 9 10-603
= 2T 9-4 T 9 10-606
=2 & HTHT 9-4 2 HTHT 9 10-611
=2 & HTHT 9-4 2T 9 10-702
= 2T 9-4 T 9 10-703
= 2T 9-4 T 9 10-709
=2 & HTHT 9-4 2 HTHT 9 10-710
> & HTHT 9-4 2 HTHT 9 10-711
= 2T 9-4 T 9 10-807
= 2T 9-4 T 9 10-808
> & HTHT 9-5 2T 9 17
=2 & HTHT 9-5 2 HTHT 9 22
> & HTHT 9-5 2 HTHT 9 31
=2 & HTHT 9-6 2 HTHT 9 18
=2 & HTHT 9-6 2 HTHT 9 20
> & HTHT 9-6 2 HTHT 9 21
=2 & HTHT 9-7 2 HTHT 9 22
= 2T 9-10 T 9 10-805
=2 & HTHT 9-10 2 HTHT 9 27
=2 & HTHT 9-10 2 HTHT 9 28
> & HTHT 9-10 2 HTHT 9 29
= 2T 9-10 T 9 30
= 2T 9-13 T 9 35
=2 & HTHT 9-14 2 HTHT 9 1
> & HTHT 9-15 2 HTHT 9 31
> & HTHT 9-17 2 HTHT 9 7
=2 & HTHT 9-22 2 HTHT 9 25
=2 & HTHT 9-25 2 HTHT 9 8
> & HTHT 10 2T 2 8
= 2T 10-1 T 10 5
> & HTHT 10-2 2 HTHT 10 10




= FET
=hta (IHEEPFK) =heg GhEFR)

X B2 TH Sty BI% TH & =
=2 & HTHT 10-2 2 HTHT 10 11
=2 & HTHT 10-5 2 HTHT 10 11
=2 & HTHT 10-5 2 HTHT 10 25
> & HTHT 10-5 2 HTHT 10 26
=2 & HTHT 10-5 2 HTHT 10 27
=2 & HTHT 10-7 2 HTHT 10 13
=2 & HTHT 10-8 2 HTHT 10 17
= 2T 10-10 = T 10 20
=2 & HTHT 10-11 2 HTHT 10 22
> & HTHT 10-11 2T 10 23
=2 & HTHT 10-11 2 HTHT 10 24
= 2T 10-16 T 10 27
= 2T 10-20 T 10 20
=2 & HTHT 11 2 HTHT 11 24
=2 & HTHT 11-1 2 HTHT 11 29
> & HTHT 11-2 2 HTHT 11 2
> & HTHT 11-3 2 HTHT 11 28
=2 & HTHT 11-4 2 HTHT 11 27
=2 & HTHT 11-4 2 HTHT 11 28
=2 & HTHT 11-5 2 HTHT 11 26
=2 & HTHT 11-5 2 HTHT 11 27
=2 & HTHT 11-7 2 HTHT 11 24
=2 & HTHT 11-7 2T 11 25
=2 & HTHT 11-8 2 HTHT 11 24
= 2T 11-10 T 10 20-403
= 2T 11-10 T 11 20-301
= 2T 11-10 T 11 20-403
=2 & HTHT 11-10 2 HTHT 11 20
= 2T 11-10 T 11 20-201
= 2T 11-10 T 11 20-202
= 2T 11-10 T 11 20-203
= 2T 11-10 < T 11 20-401
= 2T 11-10 = T 11 20-402
= 2T 11-10 T 11 20-302
= 2T 11-10 T 11 20-303
= 2T 11-11 < T 11 19
= 2T 11-12 T 11 18
=2 = 3T 11-14 2 3T 11 9
= 2T 11-14 T 11 10
= 2T 11-14 T 11 12
=2 & HTHT 11-15 2 HTHT 11 12
=2 & HTHT 11-15 2 HTHT 11 14
> & HTHT 11-16 2T 11 8
=2 & HTHT 11-17 2 HTHT 11 8
> & HTHT 11-18 2 HTHT 11 6
=2 & HTHT 11-19 2 HTHT 11 4
=2 & HTHT 11-19 2 HTHT 11 5
= 2T 11-21 T 11 12
= 2T 11-24 T 11 24
=2 & HTHT 11-28 2 HTHT 11 12
=2 & HTHT 11-29 2 HTHT 11 12
=2 & HTHT 11-34 2 HTHT 11 24
> & HTHT 12 2 HTHT 12 25
=2 & HTHT 12 2 HTHT 12 27
= 2T 12 T 12 33-5
=2 & HTHT 12-1 2 HTHT 12 1
> & HTHT 12-2 2 HTHT 12 35
> & HTHT 12-2 2 HTHT 12 36
=2 & HTHT 12-3 2 HTHT 12 4
=2 & HTHT 12-4 2 HTHT 12 3.4
> & HTHT 12-4 2T 12 14
= 2T 12-4 T 12 33-4
> & HTHT 12-4 2 HTHT 12 33-6




= FET
=hta (IHEEPFK) =heg GhEFR)

X B2 TH Sty BI% TH & =
=2 & HTHT 12-4 2 HTHT 12 35
= 2T 12-5 = T 12 33-5
= 2T 12-5 = T 12 33-3
= 2T 12-5 T 12 33-6
=2 & HTHT 12-6 2 HTHT 12 30-4
= 2T 12-6 T 12 30
= 2T 12-6 = T 12 30-5
= 2T 12-6 = T 12 30-8
=2 & HTHT 12-6 2 HTHT 12 31
> & HTHT 12-7 2T 12 28
=2 & HTHT 12-7 2 HTHT 12 30-8
=2 & HTHT 12-7 2 HTHT 12 30-9
=2 & HTHT 12-8 2 HTHT 12 29
= 2T 12-8 = T 12 30-8
= 2T 12-8 = T 12 30-10
= 2T 12-8 < T 12 30-5
= 2T 12-8 T 12 30-9
=2 & HTHT 12-9 2 HTHT 12 20
=2 & HTHT 12-10 2 HTHT 12 20
= 2T 12-12 = T 12 20
= 2T 12-14 = T 12 14
=2 & HTHT 12-15 2 HTHT 12 13
=2 & HTHT 12-16 2T 12 11
=2 & HTHT 12-18 2 HTHT 12 7
=2 & HTHT 12-19 2 HTHT 12 6
=2 & HTHT 12-20 2 HTHT 12 4
> & HTHT 12-20 2 HTHT 12 14
=2 = 3T 12-22 2 3T 12 3
=2 & HTHT 12-23 2 HTHT 12 6
> < HTHT 12-24 ST 12 6
=2 & HTHT 12-28 2 HTHT 12 4
= 2T 12-29 < T 12 30-10
=2 & HTHT 12-32 2T 12 23
= 2T 12-33 T 12 22
=2 & HTHT 12-34 2 HTHT 12 24
= 2T 12-55 < T 12 33-5
= 2T 12-59 T 12 32
=2 & HTHT 13 2 HTHT 13 3
=2 & HTHT 13 2 HTHT 13 5
> & HTHT 13 2 HTHT 13 21-4
=2 & HTHT 13 2 HTHT 13 32
= 2T 13-1 T 13 5
= 2T 13-1 T 13 8
= 2T 13-2 T 13 9
= 2T 13-3 T 13 5
=2 & HTHT 13-3 2 HTHT 13 10
=2 & HTHT 13-3 2 HTHT 13 11
> & HTHT 13-4 2 HTHT 13 12
=2 & HTHT 13-4 2 HTHT 14 11
= 2T 13-5 T 13 5
=2 & HTHT 13-5 2 HTHT 13 14
=2 & HTHT 13-5 2 HTHT 13 16
> & HTHT 13-5 2 HTHT 13 18-7
=2 & HTHT 13-6 2 HTHT 13 20
=2 & HTHT 13-7 2 HTHT 13 21-3
=2 & HTHT 13-9 2 HTHT 13 31
= 2T 13-10 T 13 32
> & HTHT 13-12 2 HTHT 13 1
= 2T 13-12 T 13 3
=2 & HTHT 13-12 2 HTHT 13 21-4
= 2T 13-13 T 13 1
= 2T 13-13 T 13 3
= 2T 13-14 T 13 3




= FET
=hta (IHEEPFK) =heg GhEFR)

X B2 TH Sty BI% TH & =
= 2T 13-15 = T 13 5
= 2T 13-16 = T 13 3
=2 & HTHT 13-17 2 HTHT 13 21-3
= 2T 13-18 T 13 21-5
= 2T 13-19 T 13 21-7
= 2T 13-20 T 13 21-8
=2 & HTHT 13-21 2 HTHT 13 21-8
=2 & HTHT 13-22 2 HTHT 13 21-4
= 2T 13-23 = T 13 21-4
= 2T 13-24 T 13 3
= 2T 13-25 T 13 18-5
= 2T 13-26 T 13 14
= 2T 13-28 T 13 18-5
= 2T 13-30 = T 13 18-4
= 2T 13-31 = T 13 18-8
= 2T 13-31 < T 13 18-6
= 2T 13-32 T 13 18-6
= 2T 13-35 T 13 15
= 2T 13-35 T 13 18-5
= 2T 13-36 = T 13 18-4
= 2T 13-37 = T 13 15
= 2T 13-38 = T 13 16
=2 & HTHT 13-41 2T 13 18
= 2T 13-42 T 13 18-3
= 2T 13-43 T 13 18-3
= 2T 13-45 T 13 19
> & HTHT 13-47 2 HTHT 13 18
= 2T 13-49 T 13 17
= 2T 13-54 T 13 29
> & HTHT 14 2 HTHT 14 11-3
=2 & HTHT 14 2 HTHT 14 12
=2 & HTHT 14 2 HTHT 14 28
=2 & HTHT 14-1 2T 14 5
=2 & HTHT 14-1 2 HTHT 14 8
=2 & HTHT 14-2 2 HTHT 14 9
=2 & HTHT 14-2 2T 14 10
=2 & HTHT 14-3 2 HTHT 14 11
=2 & HTHT 14-3 2 HTHT 14 11-7
=2 & HTHT 14-3 2 HTHT 14 11-3
> & HTHT 14-4 2 HTHT 14 13
=2 & HTHT 14-5 2 HTHT 14 14
=2 & HTHT 14-6 2 HTHT 14 14
> & HTHT 14-7 2T 14 17
=2 & HTHT 14-10 2 HTHT 14 20
= 2T 14-11 T 14 21
= 2T 14-12 T 14 25
=2 & HTHT 14-13 2 HTHT 14 26
= 2T 14-14 T 14 26
=2 & HTHT 14-15 2 HTHT 14 26
=2 & HTHT 14-16 2 HTHT 14 26
=2 & HTHT 14-16 2 HTHT 14 27
= 2T 14-17 T 14 28
> & HTHT 14-18 2 HTHT 14 1
=2 & HTHT 14-18 2 HTHT 14 3
=2 & HTHT 14-19 2 HTHT 14 4
=2 & HTHT 14-19 2 HTHT 14 5
> & HTHT 14-19 2 HTHT 14 9
> & HTHT 14-23 2 HTHT 14 20
= 2T 14-24 T 14 18
=2 & HTHT 14-25 2 HTHT 14 18
> & HTHT 14-31 2T 14 18
> & HTHT 15 2 HTHT 15 10
> & HTHT 15-1 2 HTHT 14 9




= FET
=hta (IHEEPFK) =heg GhEFR)

X B2 TH Sty BI% TH & =
= 2T 15-1 = T 15 8
= 2T 15-1 = T 15 9
=2 & HTHT 15-2 2 HTHT 15 10
> & HTHT 15-3 2 HTHT 15 10-401
=2 & HTHT 15-3 2 HTHT 15 10-402
=2 & HTHT 15-3 2 HTHT 15 10
=2 & HTHT 15-3 2 HTHT 15 10-202
= 2T 15-3 = T 15 10-302
=2 & HTHT 15-3 2 HTHT 15 10-201
= 2T 15-3 T 15 10-301
=2 & HTHT 15-3 2 HTHT 15 12
=2 & HTHT 15-4 2 HTHT 15 15
=2 & HTHT 15-4 2 HTHT 15 17
=2 & HTHT 15-5 2 HTHT 15 17
=2 & HTHT 15-5 2 HTHT 15 18
> & HTHT 15-5 2 HTHT 15 19
> & HTHT 15-7 2 HTHT 15 23
=2 & HTHT 15-7 2 HTHT 15 24
=2 & HTHT 15-8 2 HTHT 15 24
=2 & HTHT 15-9 2 HTHT 15 2
=2 & HTHT 15-9 2 HTHT 15 25
= 2T 15-10 = T 15 3
= 2T 15-10 < T 15 4
= 2T 15-11 T 15 3
= 2T 15-11 T 15 5
= 2T 15-12 T 15 6
= 2T 15-13 T 15 21
= 2T 15-13 T 15 22
=2 & HTHT 15-14 2 HTHT 15 20
= 2T 15-17 T 15 3
= 2T 15-18 T 15 3
=2 & HTHT 15-22 2 HTHT 15 17
= 2T 15-30 = T 15 10-202
=2 & HTHT 16 2 HTHT 16 9
=2 & HTHT 16 2 HTHT 16 11
=2 & HTHT 16-1 2T 15 23
=2 & HTHT 16-1 2 HTHT 16 2
= 2T 16-1 T 16 3
=2 & HTHT 16-1 2 HTHT 16 23
> & HTHT 16-1 2 HTHT 16 25
= 2T 16-2 T 16 3
= 2T 16-4 T 16 5
= 2T 16-4 T 16 6
=2 & HTHT 16-4 2 HTHT 16 7
> & HTHT 16-6 2 HTHT 16 11
=2 & HTHT 16-7 2 HTHT 16 14
=2 & HTHT 16-7 2 HTHT 16 15
> & HTHT 16-8 2 HTHT 16 15
=2 & HTHT 16-9 2 HTHT 16 17
=2 & HTHT 16-12 2 HTHT 16 21
= 2T 16-13 T 16 22
= 2T 16-16 T 16 8
= 2T 16-16 T 16 25
=2 & HTHT 16-17 2 HTHT 16 25
= 2T 16-18 T 16 9
= 2T 16-19 T 16 9
= 2T 16-20 T 16 9
= 2T 16-21 T 16 9
=2 & HTHT 17-1 2 HTHT 17 25
=2 & HTHT 17-2 2 HTHT 17 21
> & HTHT 17-2 2T 17 25
> & HTHT 17-3 2 HTHT 17 20
= 2T 17-4 T 17 5-101




= FET
=hta (IHEEPFK) =heg GhEFR)

X B2 TH Sty BI% TH & =
= 2T 17-4 = T 17 5-102
= 2T 17-4 = T 17 5-105
= 2T 17-4 = T 17 5-202
= 2T 17-4 T 17 5-206
=2 & HTHT 17-4 2 HTHT 17 5-301
=2 & HTHT 17-4 2 HTHT 17 5-304
= 2T 17-4 = T 17 5-401
= 2T 17-4 = T 17 5-404
= 2T 17-4 = T 17 5-103
= 2T 17-4 T 17 5-203
= 2T 17-4 T 17 5-204
= 2T 17-4 T 17 5-306
= 2T 17-4 T 17 5-406
= 2T 17-4 = T 17 5-104
= 2T 17-4 = T 17 5-106
= 2T 17-4 < T 17 5-205
> & HTHT 17-4 2 HTHT 17 5-302
= 2T 17-4 T 17 5-303
= 2T 17-4 T 17 5-305
= 2T 17-4 = T 17 5-402
= 2T 17-4 = T 17 5-403
= 2T 17-4 = T 17 5-405
=2 & HTHT 17-5 2T 17 17
=2 & HTHT 17-6 2 HTHT 17 16
=2 & HTHT 17-7 2 HTHT 17 8
=2 & HTHT 17-8 2 HTHT 17 10
> & HTHT 17-9 2 HTHT 17 11
=2 & HTHT 17-10 2 HTHT 17 12
= 2T 17-11 T 17 15
> & HTHT 17-12 2 HTHT 17 8
=2 & HTHT 17-15 2 HTHT 17 6
=2 & HTHT 17-16 2 HTHT 17 2
=2 & HTHT 17-20 2T 17 3
=2 & HTHT 18 2 HTHT 18 9
=2 & HTHT 18 2 HTHT 18 10
=2 & HTHT 18-1 2T 18 32
=2 & HTHT 18-2 2 HTHT 18 32
= 2T 18-3 T 18 30
=2 & HTHT 18-5 2 HTHT 18 28
> & HTHT 18-7 2 HTHT 18 23
=2 & HTHT 18-7 2 HTHT 18 24
=2 & HTHT 18-9 2 HTHT 18 22
= 2T 18-10 T 18 19
=2 & HTHT 18-12 2 HTHT 18 16
= 2T 18-13 T 18 10
= 2T 18-14 T 18 8
= 2T 18-17 T 18 3
> & HTHT 18-17 2 HTHT 18 4
=2 & HTHT 18-17 2 HTHT 18 19
= 2T 18-19 T 18 31
= 2T 18-20 T 18 31




